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Mantal Ability and Language (Hindi or English) Comprehension Test
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ROLL NO. OF CANDINATE
e & gwmER
4 3 feim
q9g: 90 e N quifs: 100  Time: 90 minutes Max. Mark: 100
) INSTRUCTIONS TO CANDIDATES
1, A 3 e A & ford| 1 Write all Nos. in English only.
2. OMR SR YF$ W BUI JHA® (Roll No.) 3= WY1 2. Verify the roll number Printed on OMR Sheet with the
T # fera gan srpHis (Roll No.) A A | roll number givin in your admission card.
3. Ay OMR SR W 19T JHFAMG U 81 &, Mydw 3. If your roll number is not Printed on OMR answer
o A g 7Y srgwia & o ford | v A W U sheet then write roltnumber on blank space provided
A P R | on the sheet. Write one digit on one block.
4. U UH W I PO A Ay T SR M aafy 4 Do not write anything else on the question paper,
sfraaad| in any case do not mark answer on the question paper.
5. TAYTI-UAH 100 WA F WM v s ¥ 17 5. Thereare 1100 queEsuol?s in tltns paper. All the queitions
T T UG SF T are compulsory. Each question carries one mark.
bl g 6. In this question paper, question number 1 to 50 are
6. FTAUTATA ST 01 50 TP S Wv difgs araa > d A N
ToYe0T % 7T S 9o e HHF 519 100 TF B WA to examine menfal ahility and question number 2
aTeT g Tden FRTE to 100 are Test language compehension.
R 73 o) R 7. Language comprehension test consist of two sections,
7. WE aw ﬂff&ﬂ_ﬁg ¥ aﬁg i 3 8 3 hindi and English, From these two sections only
TP TS R g‘&% o A ¥ e question from one language has to be attempted.
8. OMRE WE _ ﬁl 5 ﬁsm' pHTa & 3P 8. Serial Nos. of all the question are written on the
. ; ik “_" B,C,D, Answer sheet. In tront of these the Serial Nos. A, B,
2 anmQ e 3 W T & D AT A B ) C, D probable aswer are given You have to select the
BT X | correct answer and blacker in the circle arount it.
SaTEXYl ® ® 00 (C we ST} ® |) Example (&) @® (© (Ciscorrect Ans.)
7. SRS 'é‘ﬁ'a_ﬂﬁ OMR STR-93% TR ﬁ SfPIPY 9 Mark answer on separale OMR Answer sheet given.
0. URA 11'5['?}3 3T H PR YBIB—PR Y, FE I TAW 10, Blank sheets are attached al the end at question
‘ WIS T | : paper for rough work, please don’t tear these off.
1. wfen & S Frie® B OMR S¥R U50@ 91 11, Handing over of the AnSWEr Sheel, 1o the Mmvigilator,
afyard ¥ | is compulsory after the examination.
2. giEn SIU W Y- o W W B 12.  Condidate can cary question paper with themselves.
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g™ 1.

g9 2.

9 3.

9 4.

9 S,

fordt 100 XX €I H A, B &1 20
e it o 5 Herue W BT & A A
= =T B-
(A) 5T /3.
B) 4% /3.
© 6T/3.
(D) 817/4.

goH 40 Taom iRt wEERl -

TUHHA YTl TEET St Fh1E
3 BN |

A) 7

(B) 0

€ 5

(D) T A HE T

T SAfeRt o A Taet 12% sigt fean
ST &, 3 A8 12% et fean S
¥ 15t 3 e W o aREd ge -
(A) 1.44% =T

(B) 1% =1

(C) 1.44% T

(D) IS fted &l

xR L wama N i@
X+ FWE S -
(A N

(B) N*-2

© 2N*-1

D) 4N*-2

x‘7+1:€rx——n?twmﬁwarm%
AT e BT~

(A) x-1

B) x+1

o x

D) -x

Qni.

On2,

Qn4,

Qn &

In a 100 metre race A beats B by 29,-
metre or 5 seconds. Find the sf)eed
of A-

(A), S metre/sec

(B) * 4 metre/sec

(C) 6metre/sec

(D) 4metre/sec

The unit digit of product of first 40
natural numbers is.

A 7

B0

O s
(D)  None of these

The salary of aworker is first increased
by 12% and there after it was decreased
by 12% what was the change in salary -
(A) 1.44% Decrease

(B) 1% Increase

(C) 1.44% Inerease

(D) No Change

The mean of X + 31-c is N. Then the

mean of Xx* + )%z is -
/(A) N2

® N*-2.

€ 2N* -1

(D) 4N*-2

It x¥+ 1is divided by x* - 1, the
remainder will be -

(A) X -1

(B) X+ 1

© x

(D) ¥
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HS Id b .
what is the value of

At o2k R Qps. MG+ -

CEY+(2) == (e

(A) 0 A 0
B) 2 ®) 2
© -2 © -2
(D) T A A & (D) None of these

9™ 7. ﬁﬁﬁﬂﬁ?Wﬂ%ﬁWﬁ%— Q}ﬁ Which one of the following is in

ascending order -

RRE SRR
® 6373 ® G i3
© 3706 © 374
SRR NN SRS

ﬁ-&w - (Ug 8 WU 11) i fem e o Direction ( Que 8 to Que 11) There is a (number
U (HEET/ANR) o & &, Feww /letter) series in the following questions
T T ug F Y arEes e with an item missing, marked with
( ?7) ¥ <grian e ¥ | feu T ferenea question mark (?). Find the best
ﬁﬁmwﬁmww appropriate option from the given
wHifs | ~, optiop-

‘U 8. 4, 18, (?), 100, 180, 294 Ons. 4,13, (), 100, 180, 294

(A) 32 (A) 32,
B) 36 B) 36
(C) 48 : O 48
(D) 40 (D) 44

WS 9. 30, 68, 130, 222, (?), 520, 738 Qn9. 30, 68, 130, 222, (?), 520, 738
(A) 420 (A) 420
(B) 350 B) 350
©) 250 © 250
D) 280 D) 280

S 10. 6072, (?), 200, 48, 14, 5, 3 QuAth 6072, (?), 200, 48, 14, 5, 3
(A) 1010 ' (A) 1010
B) 1001 ‘ B) 1001
(© 1100 (© 1100
D) 1110 ' D) 1110

NTSE-I 2



U9 11, NSV, K7T, (?), E14P, BI9N Qn1l1. NSV, K771, (?), E14P, BI9N .

(A) H9R (A) HOR
B) HI0Q (B) H10Q
(C) HIOR - (C) H10R
(D) T10R ) I10R
Te 12, TRt s zeR =@ 20'%‘—‘%'33:; Qn 12. An elevator has the capacity to carry
T F 4 #1115 = ¥ adults can be carried by the levator
foram sl =t ferore 8= S o) with 15 children-
(A) 4 (A) 4
(B) 3 (B) 3
<G 5 (O
D) 6 D) 6
Y9 13. AE HE =41 M SHE =49 & al  Qnl13.If HE = 41 and SHE = 49 then
COME =? COME=?
(A) 36 (A) 36
(B) 70 B) 70
) 72 <G 72
(D) 78 - (D) 78
gy 14. Trifera afka R d i o i \Qn 14. Which of the following four logical
T, WO, IR Ho® & WL Rl diagrams represent correctly the
Eﬁ T w0 § gt -%? relationship between whale, fish, crocodile?

®) @ O - ®) @ O
© ©)

oy QO - O™ OO0
O O
ot (v ® 150 18%@) Direction ( For Que No. 15 to 18)
ErefR > & In each of the following questions there
U H AN qE are given a combination of letters
R faaden (A,B,C.D) farerea . Fl:)llwed l?y flrom (A,B,C,}l])) ;llternatives
: | & <faa =dor ke choose the alternative which resembles
i q i A the mirror image of the given
%mzﬁrgﬁl combination most appropriabely.
U 15. BUZZER _ Qn 15. BUZZER
(A) SHXXUE (A) SAXSUd
(B) REZZUB (B) REZZUB
(Cy dgussd4d (Cy dUXX3A
(D) AddZ304 (D) SddZX0d
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g 16. JUDGEMENT Qn16. JUDGEMENT

(A) TNEMEGDUJ (A) TNEMEGDUJ
B) TMAMAGAUL (B) TMUEMAGA UL
©) TMAMEDAUL | (©) TMEMEDAUL
(D) tuaoaMauT (D) wwaoaMauT
99 17. R4E3N2U Qn17. R4E3N2U
(A) AH4N2U3 (A) A94N2U3
B) U2N3E4R (B) U2N3E4R
© USHedbs (©) USpedhs
(D) USNEdRA (D) USNEALA
T 18. DBV8476 Qn 18. DBV8476
(A) dLb8VEQ A) 3rhgvaa
(B) 6748VBD (B) 6748VBD
(C) 8476DBV © 8476DBV
D) aTrgved o D atrgvaa
- frder: - (T E 19" 2% ferg) Direction ( For Que No. 19 to 22)
S Bl T g o o % g In each of the following questions a
Afem (2rege ) ® @ fewan e 2 matrix of certain number is given with
TR T O ( ?) U= fas 1 a question mark (?) in one block. These
3Rl I TS TH fagra O =t numbers follow a certain trend carefully
ATTHA Rt 1 Wﬁqeﬁ?i 'CI% adr go through the numbers and choose the
T T ((7) & fom stua g missing (?) character -
|
g 19. Qn19.
4 ; 5 6
2 3 7
1 .8 3
X,
21 98 ?

A % B 76 © 73 D) 16
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e - (w230 26)
e & T I W e
g, e I ww & Sew @
T FER o UTH ST-3Te1 HR
(T )R UETELA, B, C, D, E, B
() AT YR B % 9N H AR
(ii) BT R C o TR A A TR TS|
(iii) C ST R D o AR H 3T R
(iv) D T WR E % W T 30§ |
(v) E N IR A ¥ 9 W C ¥ ST
71
9 23. TTH W VR N G R B &
A) A |
(B) B
© C
D) D

T¥ T 20. Qn 20. -
38 44 42
23 55 28
37 | 2 39
, (A) 33 (B) 66 (C) :; D) 77
T 21. Qn2L
? 13 49
9 17 69
13 11 | 59
) A 9 B 5 (© 10 (D 11
T 22, Qn22.
1 5 7 75
8 3 4 ?
9" 7 8 | 194
(A) 20 (B) 43 (C) 89 (D) 96

Direction (Que No. 23 to 26)

Read the information carefully and

answer the question that follow.
A Blacksmith has five iron articles A,
B, C, D, E each having a different

weight.
(i) A weighs twice as much as B.
(i) Bweighs four and half times as much as C.
(ili) C weighs half as much as D.
(iv) D weighs half as much as E.
(v) E weighs less than A but more than C.

Qn 23. Which of the following is lightest in weight.
(A) A
(B) B
© C
D) D
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Qn 24. ks lighter in weight than which of the

9 24. E wﬁﬁmﬁmﬁﬁm%? -

other two articles.
(A) A,B (A) .A,B
B) D,C @B) D,C
C AC ©C AC
©®) D,B ' ©®) D,B
Ue 25. E TR B o orgell § Wil @) Qn25. Eis heavier than which of the following
two articles-
(A) D,B (A) D,B
B) D,C B) D,C
© AC ©) A C
D) AB D) A.B
T 26. Sqﬁﬁ Eﬁﬁlﬁaﬁm ‘HT&%? Qn 26. Which of the following is heaviest in
' weight-
(A) A (A) A
(B) B (B) B
© C © C
®) D ®) D
fdor: - (Y ®. 27 A 30) Direction ( Que 27 to 30)
ﬁ'ﬂ? e CAL WWW = Read the information carefully and
fa "TQ‘J'S:PT ¥ e - answer the questions that follow-
@mmﬁg A, B, There are six children taking part in an
C,D,E, a F 9 AR % A 3RE essay competition, namely A, B, C, D,
saa § W@%IFHD,EH%H@%! E and F. A and E.are brothers. Fand D
C,A %FWWWHTW (7A) are sisters of E. C is the only son of A’s
2\ B 2k D, C & * O = uncle. B and D are the daughters of the
W ) brother of C’s father -
e 27. D,A ¥ Frw TR A %E : - Qn27. How is D related to A ?
(A) = , (A) Uncle
(B) ¥@ (B) Sister
©) afsft (C) Niece
(D) 90 _ (D) Cousin Sister
U 28. q&W yfaam fraa ¥ 2 Qn 28. How many male competitor are there-
A) 6 (A) 6
B 5 ®) 5
©) 4 O 4
) 3 ®) 3
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Ue 29, fgem wfaant fope €7

(A) 5 B) 4
©) 3 D) 2
W 30. C,F 4 form yer qafaa 27
(A) THSE  (B) 9§
© = (D) ==
Fdo: - (W w31 A UR * 35) F T
TR Sl UGH Wol o Feel & |

@ B I TG, FeR, 39, T, A
3R Tl AREIGRE waE 9wt
o: Tl = ®: ST 37T TeRe o

=Rt} firett ok T 7 foeent-smRiRgy,
o g, Ta-smiege, T ue. - A,
HeTA-Tt o ST AT~ eIl | 57

T4l & T S 30 W E S
STCTT- ST §- Wl Teenatl, - St A,

Fe o ford €13 fonclh fomwshmr @ & T
S T R |

(i) TSTRT &0 W IR T F TI E
HAT T

(iif) SR ST 7 7R T § 3R oy AR
¥ o1 T AT S | S RepT W I e
©, STEHT $-Hel TR St Hel % WY ¥ |

(v) , TGSt 1 $-3e1 @ e Ae ok wr

7 iR T O e e

(v) 3Tl WA % T H T e §
3R S faot o =Y M T § ST
3T @RI AR+ WY T 5 |

(vi) R - e d g8 § ok
ST $-Ue WIT, BTeHel & T e § |

(vii)) A TR YA HFHFA |

(vii) Toreent Trgfor et & g€ & swem &0
@A | At Yewiet & @iy § 78 gead
F AR

(ix) TI9 A TR SRR A B

Qn 29. How many female competitons are there-
A) 5 B) 4
© 3 D 2

Qn 30, How is C related to F -
(A) Cousinbrother (B) Brother
(L) Son (D) Uncle

Direction (Que 31 to Que 35) Read the information
. carefully and answer the question.

()  Six friends Rahul, Kabeer, Anup, Raghu,
Amit and Alok were engineering
graduates. All six of them were placed in
six different companies and were prosted
in six different locations namely Tisco-
Jamshedpur, Telco-Pune, Wipro -
Bengaluru, HCL-Noida, Mecon-Ranchi ‘
and Usha Martin-Kolkata. Each of them
has their personal e-mail ids with different
e-mail providers i.e. gmail, indiatimes,

o rediffmail, yahoo hotmail, sancharnet
_ though not necessarily in same order.

(1) é[“he one having e-mail account with
sancharnet works in Noida and the one
havirrg email account with india times
workrs for Tisco.

(i)  Amitdoesnot stay in Bengaluru and does
not work for Mecon, the one who works
for Mecon has an email id with gmail.

(iv) ~ Rahulhas an email id with rediffmail and-

" works at Pune. v
(v)  Alok does not work for Mecon and the
<one who works for wipro does not have
an email account with yahoo.
(vi)  Kabeer is posted in kolkata and does not
havé an account with hotmail.

(vii) Nither Alok nor Raghu work in Noida, :

(viil) Thé one who posted in Ranchi, has an
email id which is not an account of
rediffmail or hotmail.

(ix) Anupis posted in Jamshédpur.
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9 31.

W 32,

UH 33.

T 34,

U™ 35.

S fardr W o T § e 3-e
T fFeRr Ta 8 ?

(A) TR A2

(B) g

() Aewia

(D) TeHA

f= o @ $-9a @, gl ©m
3 safer, ot i W S R ?
(A) HER - Hickrmal - Sewae

(B) 3Tl - A - feamersrd
© &A@ -AmeE - AR

O) ¥ - -StEad

fratdsR T Rmaad?
(A) et e gl T A R
(B) T R RIS A &
(C) SR 1 $-Tet T Ag & T § |
(D) T I $-He @ fSAREH &

IR

o= @ 9 91 W SATelTn, T,

31U, TEA, T 3R i o fragfer

T FTFA L

(A) TR, e, O, SRR, e,
ShiCTRTT

(B) SIGTe, hicwkhTd], SHIRY, 0,
ugr, T

(C) HIcHRT], HeTe, SHRIRYE, O,
Ategr, T

D) FHIAFETRI

A A 576 € A @ gfeaner,
R W2, 3R ag % wa ¥, A e
HEAT3T W HrETa § | 3ok 1§ 0eT

. T % A W W @ B |

(A) o1 WfT, w@Ea., fos
B) fewnt, fomt, s mféa
(C) W=.HLua., fownl, famt
(D) &=, waETE., s A

n3l.

uQn 32,

Qn33.

Qn 34.

Qn3s.

The man who works in wipro has an

email account with -

(A) Sancharnet

(B) Yahoo

(C) Rediffmail

(D) Hotmail

Which of the following email, place of
posting and person combination is correct?
(A) Kabeer -Kolkata -Rediffmail
(B) Alok  -Bengaluru - Indatimes
(C) Amit - Noida - Yahoo
(D) Raghu - Ranchi - Gmail

Which of the following is true -

(A) Amitis posted in Ranchi.

(B) Raghu is posted in Jamshedpur.

(©) Kabeer has an email id with yahoo.

(D) Raghu has an email id with
indiatimes.

Which of the following sequence of
location represent Alok, Kabeer, Anup,
Rahul, Raghu and Amit in the same

order-

(A) Bengaluru, Noida, Pune,
Jamshedpur, Ranchi, Kolkata
Bengaluru, Kolkata, Jamshedpur,
Pune, Noida, Ranchi

Kolkata, Bengaluru Jamshedpur,
Pune, Noida, Ranchi

Noune of these

(B)
©

D)

Peaple who have email account with
indiatimes, sancharnet and yahoo work for
which companies in the name sequence as
the email account maintained-

(A) UshaMartin, H.C.L., Wipro

(B) Tisco, Wipro, Usha Martin

(©) H.C.L., Tisco, Wipro

(D) Tisco, H.C.L, Usha Martin
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T 36.

(A) 48

e 37.

9 38.

9 39,

(A) 7diEE

{ AT R 1 e ofent W ag e
3ieh & W1 gt ferenfufall & oiehi st
yfaffera & s g ?,
(B) 44

© 42 (D) 40 .

qEA+B>C+DAXB+C>A+D
aaag ffem e fr

(A) D>B (B) C>D
(© A>D D) B>D

AR 264 % 2=6,870 % 3=11 AN

735 % 5 T HI SATT-

(A) 5 (B) 12

©) 16 D) 3

Teh Rl W 35 DT € | G 63T Hl
wgfrdl § AR e W ) fiE
T % TSR U died TIH W
[HA BT T Fel H AfE W &

TR IFmA L A ABTH TS

T T E ¥ | R U 24fira i

A E?

(B) 5df M

(D) T I foran
ST Hehal

(C) 8df =M

(YT H. 40 | 44)
e St T TR ok TR W YT

" o 3o -

Tq e ARG Tk T TR
wferafirar § wfaafir =, & e
T IS W@, o oG i TFaae

off |5t 880 WiarwTfiTadl & 224 7 g9
o wrEA TR, 240 7 fagm= & wam
foran, 336 % B o1 w9A T, 64
T ud famm o == fe, 809
29t AR @t @ =wa fmm, 409
ggia iR faa= o1 == foram qen
24 9 |t A A S wEe T

Qn 36.The number of boys in a class is three

Qn37.

Qn 39.

times the number of girls. Which one of

the following number can not represent - -

the total number of children in the classf .
(A) 48 (B) 44
O 42 D) 40

A+B>C+Dand B+ C>A+D then
it is definit that-

(A) D>B B) C>D
) A>D ®) B>D
. Qn38L1f 264 % 2= 6,870 % 3 = 11 then 735 %
Sbe-
(A) 5 B) 12
© 16 (D) 3

There are 35 students in a class. Suman
ranks 3rd among the girls in the class.
Amit ranks Sth among the boys in the
class. Suman is one rank below Amit in
the class. No two students hold the same
rank in the class. What is Amits rank in

the class-

(A) 7thrank (B) Sthrank

(C) 8thrank (D) Cannotbe
determined

Direction (Que No. 40 to 44)

“Rafer to the data below and answer the

question that follow-

A national level competition held last
year, participants were free to choose
their respective areas from which they
were asked questions. Qut of 880
participants, 224 choose philosophy, 240
choose science and 336 choose sports,
64 choose both science and sports, PO
choose philosophy and sports, 40

“choose, philosophy and science and 24,

i

choose all the three areas. .
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Y9 40.

T 41.

U 42,

T 43,

G 44,

feraa ufcrom ufawfiey = fedt oft
& T = g foea -

(A) 2359%  (B) 3025%

©) 3746% (D) 27.27%

T ufqeiire o § fora wfesma X
Ha Teh & oAl T RaT-

(A) 60% (B) 60% @ Aferk
©) 60%TFH (D) 75% W it

Torerm ufrsarfira = o @ & & &t
T TG foRaT- -

(A) 112 (B) 24

©) 136 (D) T A HE Tl
T U o for 26 & wem gfrenfimar
1:89 off-

(A) @hqaﬁmﬁ@a‘—@ GAE
(FaeT)

(B) T W wd W fomm T
oM ()

(© faama:@a

(D) W A HIE Tl

gfaamit fo=iv et we famm
= foar ueg gelw T qen
gt f=2ia ' ferm o =t ferem
G w9 iR Wer wE" & "ew
ST~
Ay 2:5
<O 1:5

(B) 1':4
D) 1:2

(9 . 459 47)

I TR SR Y9 o Feelt |

& 3R et gt 3 el
3T Wed 8 | |iam 3k 9 gt
3R AT =BT Wt ¢ 1Ry sk

Qn 40.

Qn41.

The percentage of participants who did
not choose any area is-

(A) 23.59% B) 30.25%

©) 37.46% (D) 27.27%

Of these participating, the percentage
who choose only one area is-

(A) 60% (B) More than 60%
(©) Less than 60% (D) More than 75%

Qn 42. Number of participants who choose at

least two area is-
(A) 112
(C) 136

(B) 24
(D) None of these

Qn 43. Which of the following areas showes a

ratioat1:8?

(A) Philosophy & Science but not sports
: Philosophy (only)

(B) Philosohy & sports but not science :
Science (only)

"(C) Science : Sports

(D) None of these

Qn 44. The ratio at students choosing sports

& Science but not philosophy to science
but not philosophy & sports is-

(A) 2:5
(Cy 1:5

Direction (Que No 45 to 47)

Read the following information carefully
and answer the questions based on there-
Ravi and Kunal are good in hockey and
volleyball. Sachin and Raviare good in
-hokey and bese ball. Gaurav and Kunal

NTSE-I



9 45.

U 46.

¥ 47.

T 48,

g 49,

T 50.

(C) 48536

FHATer FIeaTer 3R fhche st
e § | wfew, 'R i e
AT 3R FEaTer 3T Gerd € |
T, fandre IR S iaTe A oTest
QT g ?
(A) ®f=
(C) W

B) PA
(D) a

e, fonre, SRTettaeT 3R geaTet
B TSI @A & 7

(A) HeH B) FAA

©) Tra (D) ¥

T BT 3T SHATE =D W
=BT TE Wed |
(A) HIR
€)

(B) wHfeA
(D) TRE

(Y F. 48 / 49 & fow)

S A T ue H ywm e
w fu T 4 e A @ wE W
m?

ek : TUQ ; : UREET : ?
(A) wH= (B) Geh
© <fen (D) THER

ATAR : /i : @l : ?
(A) fram (B) TR
(C) @RI (D) A

Topett wickferes Wt § DEAF SIS
3587 W1 FILLR T IS 74665 &
| 36 Fre ¥ IDEAL Tt &l foran
ST ?

(A) 43568 (B) 43586

(D) 63548

are good in volleyball and Cricket,
Sachin, Sagar and Gaurav are good in

baseball and football-
Qn 45. Who is good in hockey, cricket and .
volleyball ?
(A) Sachin
(C) Sagar

(B) Kunal
(D) Ravi

Qn46. Who is good in baseball, cricket,

volleyball and football-
(A) Sachin (B) Kunal
(C) - Gowrav (D) Sagar

Qn 47. Who is good in football and baseball but
not good in hockey, volleyball and

cricket ?
(A) Sagar (B) Sachin
(C) Ravi (D) Gaurav

Direction (for Que No 48 to 49) _
Find the correct choice from the given
4 options in place of question mark (?)

Qn 48. Bank : Rupees : : Transport : ?

(A) Goods (B) Road

(C) Traffic (D) Speed
Qn 49. Market : Demand : : Farming :

(A) Farmer (B) Monsoon

(C) Foodgrain (D) Supply

Qn 50. In certain language DEAF is coded on
3587 and FILLR is coded as 74665, How
is IDEAL written in that code-

(A) 43568
(C) 48536

(B) 43586
D) 63548
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r LANGUAGE COMPREHENSION TEST (ENGLISH)

Instructions for Q. No. 51, 52 & 53
The following five sentences come from a paragraph/dialogue. The first and last sentences are

given; choose the order in which the three sentences (PQR) should appear to complete the . -
paragraph/dialogue.

Q.No. 51.
S1.  Remove the thermometer from its tube.
S . ettt e et

S4
S5.  Then move the thermometer from the patient's mouth and read the temperature.
P Ask the patient to keep the mouth close.

Q Shake down the column of mercury.

R Place the bulb of the thermometer inside the patient’'s mouth below the tongue for two

minutes.
Choose from the options below :
(A) PQR B PRQ () QRP 4 RGP
| Q.No. 52.
) S1. May | speak to Mrs. Mehta?
[‘ S et ettt
: S ettt et s ettt et i
S ettt et ettt en e
' S5.  Tellyour mother that there is a party at my home at nine in the evening tomorrow.
P. I @am Mrs. Verma. May | leave a message?

Q Sorry, mother is not at home.
R. Yes, of course aunty.
Choose from the options below :

(A) PQR (B) AQRP (C) RQP ) QPR
Q.No. 53.
S1. A gentleman who lived alone always had two plates placed on the table at dinner time.
S et ettt
£ 3 OO OO OO T T OO U RO RSSO O RPN
S ettt ettt ettt et ettt ettt

S5.  Inthis way the cat showed her gratitude to the master.

P. One day just as he sat down to dine, the cat rushed into the room.

Q. One plate was for himself and other was for his cat and he used to give the cat a piece of
meat from his plate.

R She dropped a mouse into her own plate and another into her master’s plate.

NTSE-I 17




Choose from the options below :

(ﬁ)/ QPR (B) RPQ (C) POR (D) PRQ
Q.No. 54.
T One day a hungry fox saw a crow.
2O OO s TS U O U TS EE U E OO O PETOO RO ONPROPTPPRSROY
3. The fox planned to get the piece of bread from the crow.
(A)  The crow looked very ugly. '
(B It had a piece of bread in its beak.
(C) Itwas staring at the fox.
(D)

The fox was angry at the crow. <

Q.No. 55.
1. Ram went for a bike ride.
2SO OO OO TSSO PO O OO RROPR T PSUPTPPPRRIOS
3. He hurt his knee so his mother put a band aid. ‘
(A)  Heenjoyed the ride. |
(B He hitabumb and fell down.
(C)  He stopped and had snacks on the way.
(D)  His mother loved him very much.
Q.No. 56. | f
1. Take two slices of bread. *
2 ettt eh by e et h R et nh b
3. Put the two slices together and enjoy the butter and jelly sandwich.
* A Spread butter on one slice and jelly on the other slice. 1
(B)  Goto shop and buy some bread.
(C) Place them inthe fridge.
(D)  Call your friends and enjoy the sandwich.

Instructions for Q.No 57 to Q.No. 61
Choose the word which best fills the blank from the four options given below :

57. ROOIS......cocoovviiiec the tree tightly to the soil.

(A)  grow (B) push (C) pul “0) hold
58. Iwill...coooooii tomorrow morning.

(A) coming (B) came (C) become (P} come
59.° Wouldyoumind...........cocooriiieennne, the window.

(A) close (B closing (C) closed (D) bhave closed
60. VitaminChelpsto..........ccocevivenniinn, diseases.

(A)  know (B) find (C) fought DYy fight
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61. Mymotherisreading............................. newspaper.
9} today’s (B) today (C) todays (D) todays

Instructions for Q.No. 62 to Q.No. 66
Choose the correct meanings for the given idioms/phrases :

62. Bedofroses:
(A) verysoftbed (B) dulllife (C) belongto AD)  fullof joys

63. Byleapsandbounds:
(A) veryslow (BT veryfast (C)  indetails (D)  aimlessly

64. Back stair influence:
(A)  fair and proper influence (B~ secretand unfair influence
(C) political influence (D)  noinfluence

65. Baker's dozen:
(A) ten (B) eleven (C) thiteen AD) twelve

66. Totie aknot
(A) tohitsomeone (B) tostaycalm (C) togeteducated (Y to getmarried

Instructions for Q.No. 67 to Q.No. 70
Find out the alternatives which are most opposite in meanings to the words given :

67. Guilty:
(A)  criminal -éB)/ innocent (C)  humble (D) good -
68. Expand: .
(A)  bend 4B contract (C) tie (D)  stretch
69. Brisk:
(A) agile (B) fast 27 sluggish (D)  swift
70.  Minor:
(A) tall B major (C) big (D)  heavy

Instructions for Q.No. 71 to 73. -
Select the most appropriate options to fill in the blank from the following alternatives given below:

71.  I'mvery happy as my favourite singer .......... to my town next october for a big concert.
(A) hascome (B) hasbeencoming (€y isgoingtocome (D) doesn'tcome

72. Canthejuicer.............ccco........ by Saturday?

(A)  repaired (2T berepaired (C) hasrepaired (D) being repaired
73, e one is yours?

(A) _Which (B) Who (C)  What (D) How
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Instructions for Q.No. 74 to 76
Choose the alternative which can be substituted for the sentence::

74. Agroup of stars -
KT Constellation (B)  Solarsystem (C)  Satellite (D)  Orbit

75.  Apaperwritten by hand:
(A) Document (B) Report A2) Manuscript (D) Essay

76. Thatwhich canbe easily burnt:
(A) Inflexible (B) Invincble (&Y Inflammable (D) Incorrigble

Instructions for Q.No. 77 to Q.No. 85 .
In the following passage there are some numbered blanks. F|l| in the blanks by selectingthe most '
appropriate word from the options :

The foundations of good reading 77 the same for all children, regardless of 78
gender, backgrond, or special learning needs. 79 children use the same processes in learning
80 read. Some will need more help 81 others and may need more instructions 82 one reading
skill than another. 83 all children must ultimately master the same basic skills 84 fluency and
comprehensions to become 85 life long reader

77. (A) is (B) has AL) are (D) was
78. U4A)  their (B) there (C) his (D) them
79. (K Al (B) None (C) no (D) each
80. (K to (B) of (C) for (D) in
81. (A) as (B) then (C) to B than
82. (A) with (B) by S in (D) on
83 X but () and &y so (D) of
84. (A) from (B) by (C) on &Py for
85. (A) as (B) the (C) an D) a

Instructions for Q.No. 86 to Q.No. 90
Read the passage and choose the best alternative for the questions given below :

Clarkson is a large town. It has more than fifty thousand people. It s situated next to a large river, the
Clark River. Every day people take the ferry from North Clarkson to South Clarkson to go to work.

Most people live in North Clarkson. There are many trees and the streets are very broad. When
the sun shines and the children run and play in the safe streets, North Clarkson looks wonderful.

South Clarkson has a lot of shops and factories. People don't live there but they come in the
morning to work. There is a big stadium where the Carkson Tigers play. On Sundays, many
people go to watch their favorite team.
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At the weekend, the people from Clarkson enjoy walking along the bank of the Clark River. They
also sail small boats on the water and if there is a little wind, they fly kites in the large park.

Eyery year, Clarkson grows in size because a lot of people come to live there. The government
builds more houses and the streets get busier. Maybe in the future, if the town continues to grow,
it will become a city. g

86. Whatisthere near Clarkson?

w ariver (B) asea (C) amountain (D) aforest
87. What do you see in North Clarkson?
' (A)  offices (B) factories  (£) widestreets (D) stadium
88.  Whereis the stadium?
(/é)/ in South Clarkson- (B) outside the town
(C)  neartheriver o (D)  onthe bank of the river
89.  What do peoplein Clarkson do at the weekend ? _
(A)  swimin the river (B)  do shopping
(& goforwalks (D) takerest

90. Whnich statement in not true about Clarkson?
_(ﬂ()/ It is situated next to a small river.
(B)  Everyyearitgrows in size.
(C)  More than fifty thousand people live there.
(D)  The people take aferry to go to work.

Instrctions for Q.No. 91 to Q.No. 100
Arobotis amachine. But it is not just any machine. It is a special kind of machine. Itis a machine -
that moves. It follows instructions. The instructions come from a computer. Because it is a machine,
it does not make mistakes. And it does not get tired. And it never complains unless you tell itto !

Robots are all around us. Some robots are used to make things, example cars. Some robots are
used to'explore dangerous places. For example, robots can help to explore volcanoes. Some
robots are used to clean. thlngs These robots can help vacuum your house. Some robots can
even recognize words. They can be used to answertelephone calls. Some robots look Ilke humans
‘but most do not. Most robots Just look like machines.

- Long ago people imagined robots. Over 2,000 years ago, famous poet imagined robots. The
poet's name was Homer. His robots were made of gold. They cleaned and made things. But they
were not real robots. They were all imaginary. Nobody was able to make a real robot. The real
robot was made in 1961. It was called Unimate. It was used to make cars. It looked like a giant
arm.

In the futur, we will have even more robots. They will do things that we can’t do, don’t want to do or
that are too dangerous for us. Robots will help us to fight fires, wars and sickness and discover
things. They will help to make our life better.

90. Asusedinparagraph 1, we can understand that robot doesnot get -
(A)  tired (B)  happy (C) angry (D) sad
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91.

92.

93.

94.

95.

96.

97.

08,

99,

100.

According to the author, robots may be used to:
M make cars
A explore volcanoes
()  answer telephone calls
(A) lonly (B) landllonly (&Y I ll,andil (D)

What is the main purpose of paragrah 27

(A) toshow how easy it is to make a robot.

{BY  todescribe the things a robot can do.

(C) totellwhatarobotis. -

(D) toexplain the difference between a robot and a machine.

According to the passage, when was the first real robot made?

By 1961 (B) 1900 (C) 2003 -~ (D)
The robots imagined by Homer were made of :

(A)  silver

(B) steel

) gold

(D)  bronze

Which of these statements correctly summarizes this passage ?
(A)  Robots are old.

(B)  Robots are confusing.

(C) Robots are dangerous.

_(2')/ Robots are helpful.

The name of the poet who imagined robots 2000 years ago was :

(A)  Ravindranath Tagore (B) Blake (&) Homer (D)

[land lllonly

2000 years ago

Wordsworth

According to the passage the robot follows the instructions that come from a:

AA) Computer (B) humanbeings (C)  children

The first real robot looked like a:
(A) gaintfoot (B) giantman _(€) giantarm (D)

The first robot was named :
(A)- Ulttimate  «BJ Unimate = (C) Uninate (D)

Which title best expresses the main idea of this text?
(A) Robotandits invention.
(B)  Thefirst robot.
(C) Robot has made man lazy.
,,QD{ Robot and its importance.

(D) all the above

giant

Unicex




